Melbourne Contract Bridge Centre

Has temporarily moved to new premises
MCC Bowls Club - Hawthorn
19 Swinburne Ave Hawthorn 3122
Tel: 9853 1449   ABN No: 88 791 813 415
website www.melbournebridge.com.au
Directors:   Ian Mansell   Sandra Mansell

Newsletter for week ending 28 Jul 2013
Mon

P Wilkinson & G Rogerson**
Janet Reynolds & Peter Cork
Tue
Day
Margot O’Brien & Mim Blomquist
Maria Robson & Robert Robson

Night
Jacob Lau & Wing Law

Henry Gasko & Dan Taggert**
Wed

Jan Merkel_Stol & Jude Adams**
Gundi Weiner & Pat Corby
Fri

Joan Smurthwaite & Ann Perrott**
Christine Kelly & Roger Kenna
Sat

Pam Hart & Eve Tuck**

Barbara Smith & Ed Koken
Hand of the week: Saturday Board 07 All vul Dealer S
If no-trumps is an option then bid it!
After two passes North, holding 11HCP and a 5-card suit, decides to open 1(. This puts East in a quandary – they have 12 HCP, but after North’s opening bid East cannot double as they do not have both majors. Therefore East passes. With both majors South should respond the lower major.

West passes, and the spotlight falls on North. Usually North would rebid their diamonds in order to show a 5-card suit. There is a common bridge saying: “If bidding no-trumps is an option, then bid it.” In reality, North doesn’t  want to rebid their diamonds; and therefore, despite a lack of controls in the spade suit, North should now bid 1NT. With careful play 1NT should make 7 tricks – and the contract, whereas 2( would also make 7 tricks – and is one down!
The MCBC Congress will be held on Saturday 10th August, commencing 9.30 am. It will be a two session pairs event. Entry Forms are available online or at the clubrooms.
The next Saturday Red Point Event will be on 31st August 2013 at 1.00 pm.

The next Tuesday Red Point Event will be on 6th August 2013 at 7.30 pm.
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